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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wrs fRapmRe et Ted for

(a) The continuous movement farther and
farther away from the original
equilibrium position refers to
equilibrium.

( Fill in the blank )

T S P AR SRIeS [/ WE
5fS FAORA ____ SRIRST Jam |
( AR 3% o F90)
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(2)

(b)) When the price of a substitute of

()

A9/351

commodity A falls, the demand for A
(i) rises
(i) falls
(iii} remains unchanged
( Choose the correct one )

afm A WRE Rest 7 3, o A7
oS s1fZm
() 3T
(i) I
(i) GCIX ICF
( oach TR Tferear )

While drawing an individual demand
curve for a commodity, all but which
one of the following are kept constant?

Y oA B3 (@Y WEA IECS S (PIOR

AMRR IPER RS e I R e =2
(i) The price of the commodity under
consideration
RevR TR wIRE =
(i) The prices of other related
commodities

T T 4] G
(i) The individual’s money income
(STeT&+q Y4l Sy

( Continued )
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(3)

(iv) The tastes and habits of the
individual
(STETER ¥ SF eI
( Choose the correct one )

( ool Atk ferear )

(d) If the income elasticity of demand is
greater than 1, the commodity is an
inferior good.

( Write True or False )

I o o RowrRe el wiiF =,
s TRy (g8 w1 2T
(3 @ w7 fosn )
(e) What does a budget constraint line
exhibit?
Feso- e @R B oefq 3 2
() What will be the shape of the Engel
curve for a Giffen good?
e TR @ N AIR WS (AR
73?7
(g9 What is an isoquant?
oA @4 F?

(h) What is opportunity cost?
e R
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2. Answer the following questions :

(4)

What does the cardinal utility approach
assume about the marginal utility of
money?

TR A% Berairer e Seere e
Rerm ww9fie Forf &2

Price effect = Iﬁcome effect +
Substitution effect

( Write True or False )
v Ree = o Rere + afest e
(3791 1 w79 foran )

S PR T for

(a)

(b)

(c)
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What is comparative statics?

T ffsMerel ¥ 2

Draw a line diagram showing static
market equilibrium.

#fee W Sewel Gk @b aRsha
% 31 |

What does the marginal rate of

“substitution of x for y (MRS xy) refer to?

§R oS )3 ofeF afeese T/ (MRS ) T
& gom 2

{ Continued )
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(5)

(dj What is Giffen paradox?
o w2

(e) Show the shape of isoquant in the case
of perfectly substitute factors.
oo ofSes TN (FIS  FHGRARACIIN
PG APl W, (RS |

3. Answer any four of the following questions :
5x4=20

oo R @ vifh o e foe

{a) Explain how ‘scarcity’ leads to economic
problems.

Tz o Wi AR R w7, JEm
40

() Draw and explain an income-
consumption curve. .
T WE-STSI ([1 S PR 0 A |

(c) Clarify the meaning of explicit cost and
implicit cost. ’
ST T S PP IR W =B o |

(d) State the concept of production
function.

TATT Fofed RO SeEd 91 |
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(e)

(6)

Briefly describe the concept of
expansion path.

R #1343 RATCH! BLF 3941 41 |

State any five economies associated
with an increase in scale of production.

TeAme W@l IR e wive 1 R @
+i1ob1 Rrewfier @y 74 1

4. Answer the following questions : 10x4=40
S PR Bl fordn

(a)
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State the concept of market
interventions. Describe various kinds of
market interventions. 2+8=10

I WOHOR YR foran | RfSw o I8
TECHOR 34T fi |

Or/ &1 -

Explain the limitations of cardinal
utility approach. State two reasons
showing superiority of indifference
curve over the cardinal utility analysis.
6+4=10

R Sl Remw Suaermz
T4 | TS SO Pore fAFCers @[
CT5eI o1 1A fora o
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(b)

(c)
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(7))

“Indifference curves exhibit three basic
characteristics : they are negatively
sloped, they are convex to the origin and
they cannot intersect.” Explain these
with diagrams.

“Sraeers @R R0 oy 3 (xR« I
T 3RS, XA (A P e e TS
0o 3T AR 1”7 BTy TFS TN F91 |

Or / 94

Elaborate the concept of consumer’s
surplus.

(STeR T7ET RO IR fordt |

Describe different stages of the law of
variable proportion with a suitable
diagram.
Toge Y TR RIS e RiFoR
TR 361 T |

Or / IR

“The long-run average cost curve is
U-shaped and relatively more flat than
the short-run averagé cost curve.”
Explain the statement with appropriate
diagram.

CONFE TSN @OE  U-Sged I

T G-/ AT ST I I FYAR

Torge oaq TS I T

10

10

10

10
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(8)

(d) Draw and explain marginal revenue
curve and average revenue curve under
perfectly competitive market and
monopoly. 5+5=10

9f AfSTAfeNEE WA WE GIHHN TWIT
ST S @A TF T W (@4 G R P00

11|
Or/ 911

Explain how a firm attains equilibrium
with the help of total revenue and total
cost approach. 10

T o wF P W Rewr 2we 2w 9
SR AGA SIETO! AT 47 |

* ok &
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